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C-169
B.Com. (Part-I) Examination, 2022
B.S.B.K. (BOOK-KEEPING)

Paper - 1II
Time : 3 Hours | [ Maximum Marks : 50
[ Minimum Marks : 18
Section—-A (Marks : 10)

Note —

Note —

Note —

M —

All ten questions are compulsory. Each question is to be answered in around
50 words. All questions carry equal marks.

(@us-3)) (3= : 10)
it T/ YA e §1 TE® UYH R SW I 50 VIR § o 1 Wt v &
3T UM T

Section-B (Marks : 20)
Answer any five questions out of seven questions. Each question is to be
answered in around 200 words. All questions carry equal marks.

(@ue-a) (31 : 20)
g # ¥ R e uel % W SIS0 Y W9 T ST ST 200 YISl H S
Tl |l T & R e g

Section—C (Marks : 20)
Answer any two questions out of four questions. Each question is to be
answered in around 500 words. All questions carry equal marks.

(Tue-w) (3R : 20)

IR H 9 fwel & g3l & SW SISU | Tk Y9 o1 ST o9 500 Ireai H oAl
1 9l geEl & 3 9HE B

BR-515 ( 1 ) C-169 PTO.



Section-A
(Tus-3)
1. (@ What is going concern concept ?

=], SHHE STAEROT 1§ 2

(i) What do you mean by Compound Journal Entry ?
fafsm SHa wfafie ¥ o9 =1 we@ ¥ 2

(ii1) What do you mean by Bank Reconciliation statement ?
o TEHE faeRer ¥ 9w gEed § 7

(iv)  Differentiate between Bills of Exchange and Promissory Note.
fafa foas oiR wfoan o # o) =aEu)

(v)  What is Suspense Account ?
Eciieiniie i

(vi)  Distinguish between Trial Balance and Blanace Sheet.
dee wd fug § o saEe

(vil) What is Income and Expenditure Account ?
M T = T Y 2

(viii) What is meant by Partnership ?
TEER ¥ F WA ¥ ?

(ix) What is Revaluation Account ?
TTHedIR T F Y ?

(x)  Explain Garner vs. Murray Rule.

TR F\W W & 9 w5 gusmu
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Section-B
(@ug-9)
2.  Briefly explain Accrual Basis of Accounting.

AR (SINH & STYR W) /el ool i 9899 § oaEy|

3. From the following particulars prepare a Bank Reconciliation Statement showing

the balance as per Pass Book on 30th June 2022.

(1) The following cheques were paid into the bank during June 2022 but were

credited by bank in July 2022 :
(@) Mr. Anthony T 4,200 (b) Mr. Robert ¥ 5,550

(ii))  The following cheques were issued in June 2022 but were cashed in July

2022 -
(a) Mr. Anand % 3,250 (b)  Mr. Santosh ¥ 13,360

(ii1) The Pass Book shows a debit of ¥ 120 for bank charges and credit of
T 1,850 for interest and dividends realised which have not been entered in

Cash Book.

(iv) The Bank A/c in the Merchant’s Ledger showed a debit balance of
< 23,000.

frfafea faazer & 30 S, 2022 1 99 5 T W S §Y SF THEE foe)0r s
() fr=fafeaa == s 2022 # 5% | S Ha g 56 8§ JaE 2022 H§ S g

(31) ot W T 4,200 () ot T T 5,550
(i) fAfafea =% S 2022 § SR fre feeg o 2022 ®§ yam fwe T .
(1) ot e T 3,250 () ot 7™ T 13,360

(iii) W= g 5 I 3 120 & o e =t 7 T ud T 1,850 =S UH AW &
foq sfee &1 7 T 9 s g oS T TR T )

(iv) =IUR *T WEeE § Sw T w1 Sfae 3w € 23,000 ¥
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What is a Memorandum Joint Venture Account ? Why and how is it prepared ?
TR G Ted Wi & § 2 98 F iR Y SFEn S ¥ 2

Give any four differences between Cash Book and Receipts and Payments Account.
Jhg o8 T Wi Ta PIE O H FHiE AR ST R |

Ram purchased goods from Shyam. The due dates for these were as follows :

2022 3 Due date for payment
Jan. 10 4,000 Feb. 13
Feb. 20 5,000 March 20
April 27 8,000 May 30
May 25 3,000 June 25

Calculate the average due date for the above payments.

9 3 W ¥ A BRI Rt A fafer e yew of

2022 4 < e fafy
St 10 4,000 WALt 13
w20 5,000 T 20
3T 27 8,000 € 30

e 25 3,000 S 25

ST PTaE & fou e <o fafa a9 st

Mahesh and Naresh are equal partners in a firm. They admit Om for 1/4 share
of profit with a guarantee of minimum profits of ¥ 20,000. It is agreed that any
excess over his 1/4 share of guarantee is to be borne by the old partners in the
ratio of 7 : 3 respectively. Profit for the year ending 31st March, 2022 is ¥ 72,000.
Prepare Profit & Loss Appropriation Account.

TR 9 Y TH ®H H W & TEGR T A AW & 1/4 91 & AN & faw wd
e #d § 59 =Faw € 20,000 T RO W ¥ SH RO & A fgu M
1/4 9/ | e ey &1 AT 1 SH1 0 |EGR FA: 7 ;3 % ST | a6 &l |
31 W, 2022 1 TG BF ot a8 | B bt T 72,000 1 1Y B § | Ar9-gi e
T SqEy |

What are the different methods of paying the share of retiring partner ?

TH STFHN T F A WERR B T & gram w fafas faftel wee € 2
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Section—-C

(T@us-—4)

9. From the following information relating to Delhi Cricket Club, prepare Income

and Expenditure Account for the year ending 31st December, 2021 and the

Balance Sheet on the date :

eetl fohehe e @ wrafem frefafed gemmed @ 31 feawer 2021 #1 99< ¢ a9 &
fou sma-=m @ e 36 oty @ fugr sAEy

Assets on Jan. 2022 were Cash at Bank ¥ 3,000; Stationery ¥ 200; Stock of Bats
and Balls ¥ 1,000; Office Furniture ¥ 500 and Subscriptions due ¥ 500.

Liabilities on January 1, 2022 were nil.

. 2022 W FEfAE W S H T 3,000 TS, RIEH T 200, I q1 G w1 wWh
% 1,000, sMEieE wEeR T 500 d°1 T 500 =S AT ¥

The following is the abstract of Cash Book for the year :
T8 & fau Joe g &1 gRw Fefatea §

Particulars ()

Particulars

()

To Bank (Amount drawn) 4,000

To Member’s Subscription 5,000

To Admission fees 300
To Sale of Old Bats etc. 100
To Ground Rent 300
To Donations 10,000

To Subscription for

By Ground Maintenance
By Telephone

By Rates and Taxes

By Tournament Expenses
By General Expenses

By Wages

2,030
100
200

2,000

50

170

By Purchase of Bats Balls etc. 700

Tournament 1,000 | By Stationery 100
By Bank (Amount Deposited) 15,350
20,700 20,700
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Donations should be kept in Reserve for a Permanent Pavilion. Subscriptions
due on 31st Dec., 2021 were ¥ 750 write off 50% of Bats Balls etc. 25% of

stationery and 10% of Office Furniture.

TH 1 rl Ufafaad & fau 9=g w5 W §1 31 femer, 2021 1 % 750 1 =l
TR o1, S S SAE T 50% RN T 25% qe HEerd wieR R 10% Sufared
T |

10. A, B and C were partners, carrying on business under the name and style of Anil

& Co. sharing profit and losses in the proportion of 4 : 3 : 2. Their Balance Sheet

as at 31st March, 2022 was as under :

A, B 3R C 31f7eT 108 FHA1 AW § AR T W) F IR WEER &1 env-'ia 4:3 ;2
F oI § sfed &1 31 A, 2022 1 R Uz fifRd yER o

Liabilities (%) | Assets (%)
Capital : Land and Building 55,000
A 40,000 Motor Car 15,000

B 20,000 Stock in Trade 20,000

C 10,000 70,000 | Debtors 18,000
Creditors 40,000 | Cash 2,000
1,10,000 1,10,000

They agreed to dissolve the partnership on that date. A agreed to take over Stock
and Debtors at a discount of 10%. B took over the Motor Car for ¥ 16,000. Land
and Building was sold for ¥ 75,000 and expenses of sale amounted to ¥ 1,600.

Creditors were settled at a discount of 1.5%. Show the relevant Ledger Accounts.

39 fafy =1 320 ®H =1 T wE w1 v fmEn A 3 W= 99 R 10% ©2

o

R A fawl BT WX &R T 16,000 F & | fy q@n 9e= T 75,000 H 5= fe=m w4
fowt & =@ T 1,600 I TRRI A 1.5% B2 W PaH w2 e T seves @
AR
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11. What is “Written Down Value’ method of providing depreciation ? How does it
differ from ‘Straight Line Method’ ? How the rate of depreciation is calculated

under these methods ?

Tod B SUfeied &3 i HAFa o9 fafy #1 & 2 9% 9 e fafy & fFe =r
i & 2 o foftel & ol Jou o9 &t X S el S § 2

12. Explain the items which are included in Trading and Profit & Loss Account.

R T TNY-BIA @ | AiHferd &) S et Je) S THss |
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